
October 29, 2013

Algebra	
  3-­‐7:	
  	
  The	
  Distributive	
  Property	
  &	
  Removing	
  Parentheses
Warm-­‐Up

Simplify.

1.	
  	
  -­‐3r	
  +	
  4x2	
  –	
  r	
  –	
  2x2 2.	
  	
  3xy2	
  +	
  2x2y	
  –	
  xy2

Solve.	
  	
  Show	
  steps.	
  Check.

	
  	
  	
  	
  	
  	
  	
  	
  	
  3.	
  	
  3m	
  –	
  2m	
  =	
  10 4.	
  	
  4x	
  –	
  3	
  +	
  3x	
  =	
  4
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When	
  using	
  the	
  distributive	
  property,	
  we	
  ____________________	
  the	
  outside	
  number	
  by	
  the	
  
___________________	
  numbers.	
  	
  We	
  always	
  separate	
  terms	
  with	
  either	
  a	
  _________________________	
  or	
  
________________________	
  sign.
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Examples

Simplify.	
  	
  

1.	
  	
  4(3x	
  +	
  5) 2.	
  	
  x(5x	
  –	
  3) 3.	
  	
  2(3	
  –	
  z)

4.	
  	
  -­‐4(y	
  +	
  3	
  +	
  x) 5.	
  	
  -­‐2z(z	
  –	
  3) 6.	
  	
  -­‐3n(m	
  +	
  3	
  –	
  p)	
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Solve.	
  	
  	
  Show	
  steps.	
  	
  Check.	
  	
  

10.	
  	
  -­‐3(2x	
  –	
  1)	
  =	
  15

Calculate	
  mentally.

11.	
  	
  3	
  shirts	
  at	
  $9.98	
  each 12.	
  	
  4	
  times	
  $25.02	
  	
  


